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Text Box
The candidate has described two conflicts, but  has not adequately addressed the second part of the question [explain the importance of the conflict to the text as a whole]
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The candidate has briefly described one conflict.
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Text Box
The final paragraph does not explain the importance of the conflict to the text as a whole, nor is this aspect addressed elsewhere in the question.
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Text Box
The candidate has touched on a second conflict, although the material presented has generally not been used in a relevant way to describe the conflict.
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